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Topic:- Child Development & Pedagogy (CDP)

1) All learning is by-and-large successful when it is / It siferm ImHT=gE: Pd e
VrAEAEVE_ feuemardl

1. Resource rich / GHTYT JUA

2. Self-directed by the learners / Rrenffay gRIT R RETAR|
3. Technology led / PIBIRCIER] ﬁ?jc_q’

4. Teacher led / TRI&® BT ﬁ?jc_d'

Correct Answer :-

o Self-directed by the learners / fRrenffal gr w@-fAERE

2) Which of the following is the technique of classroom management where a student displaying
negative behavior is separated from the rest of the class? / fafafead a -1 DET U
Dt PP g T8l TPRIHAD HATR USRI - ITAT TP BT AT H&T A 3T g1 STl 82

1. Satiation technique / _g'@ dPp-idh
2. Extinction technique / oA do-id

3. Corporal punishment / IRIN® &8

4. Time out technique / THY JHIE Th1PH

Correct Answer :-

« Time out technique / THT JHTE dH1dh



Which of the following is not true about the demonstration method of teaching? / m ﬁ' @

P Rreor ¥ siftraafed A & s d v i 22

1. The focus is on the demonstration of concepts through experiments/activities / STYRUMSA BT

TS TN/ fohaTehaal R higd BT g |

2. It can be used for a multicultural classroom /WWW$&T%WWW
IJHdr gl

3. The learners gets an opportunity to parﬁcipate/ﬁﬁmﬁ@%ﬁ@ﬁww 3T fHAdT
gl

4. All the topics can be covered by this method /s’ﬂﬁfﬁmmﬁﬁuﬁﬁwmwwél

Correct Answer :-

« All the topics can be covered by this method /s’ﬂﬁfﬁmmﬁﬁuﬁﬁwmwwél

4) A 20 year old girl’s mental age is 12 years. Find her IQ. / T® 20 HTd HI F‘l?ﬁﬁ CAR BT

Y 12 919 8| 39Dt gigaisd FApiferg|
1. 100
2. 125
3. 60

4. 65

Correct Answer :-

5) The father of Intelligence tests is ./ g@ 'q-\ﬁ'&‘l'uﬁ CAvE %:I
1. Francis Galton / Hi Tecd

2. James Cattell / @T{[%ﬂ
3. Alfred Binet / 3fabs faq
4. Karl Pearson / CARIBLE]

Correct Answer :-

+ Alfred Binet / 3Ahs fom



6) GDD is a developmental disability recognized in children who are ./ SISISt Th oo

wadh srgmaT 3 S dRaA o frewdt 31
1. below 5 yrs./ 5 T8 ¥ Bl =i A

2. age 12-14 yrs. / 12-14 TS B AT A

3. above 5 yrs./ 5 I8 U 31 & Tl A

4. above 18 yrs./ 18 Y A FW

Correct Answer :-

. belowSyrs./Saﬁ@@ﬁ%aEﬁﬁ

7) If the chronological age and the mental age of the child is 15 years. He will be classified into

which category? / Ufe =1 Ft STATIH AP MY 3R ARG Mg 15 a9 31 af 3 forsy goft
Tiffpa far smem?

1. Superior / 3
2. Normal intelligence / ITHII §@

3. Genius / UfaHT=ITE

4. Below normal intelligence / dTHY Tg’@ =

Correct Answer :-

« Normal intelligence / HHI Tg:@

8) According to Jean Piaget, cognitive development starts at stage / S Ut & SR,

TIATHS AP AT R I gar el
1. Concrete Operational /@-W

2. Preoperational / Eﬁ—w

3. Formal Operational / MR dfpares

4, Sensorimotor / Hadl U=y (@ﬂﬂ'ﬁh??)
Correct Answer :-

« Sensorimotor / Haal U= (@m

9) According to Jean Piaget, preoperational children are/ S fUars & SR, qﬁ-ﬂm
AT & T B 5Id o2



1. Egocentric/ SHDIGd @ﬂm

2. Flexible/ T (FAfaqaa)
3. Complex/ Sfed

4. Social / THTIIR

Correct Answer :-

» Egocentric/ MG IEd @ﬂ@%

10) What concept takes into account an individual’s mental and chronological ages? /

ol cafea &Y arfre iR STargH e g FIH-A YR e # T@dl 82

1. Cognitive quotient / HITTHD HTTH A

2. Intelligence quotient / gm

3. Intellectual quotient / d\lfqacb HTh A

4, Functionality quotient / & il HITh S

Correct Answer :-

« Intelligence quotient / m

11) What is the term used to denote an unfavorable attitude towards members of a particular ethnic or

religious group?/mmmmﬂmﬂ%%m%mmmﬁmﬁ%
fere f5 e o1 U o SiTaT 82

1. Prejudice / U&UTd
2. Racism / T¥1dlq
3. Enmity/_g';m:l:ﬁ

4. Fanaticism / P &l

Correct Answer :-

o Prejudice / U&UTd

12) What type of memory may be involved in carrying out complex mathematical problems? / \_!‘lﬁ?[

T e @ R HA # fha uoR 3t Wfa aftrfd g aodl 82
1. Iconic memory/q'%lﬂmﬁﬂ% (mm



2. Echoic memory / UfcIedf= Fﬂﬁf (ThIgdh HERY)
3. Working memory / I gﬂﬁf (aﬁ?ﬂ ﬁtﬁﬂ)

4. Sensory memory / Tad! Fﬂﬁf (@ﬂff ﬁ'ﬁﬁﬂ)

Correct Answer :-

« Working memory / T¢I F:jﬁf (Ollrac;)‘l ﬁ'ﬁhﬂ)

13) In which stage of Piaget’s theory of cognitive development do children develop the concept of

conservation?/W%WW%W%mWﬁﬁﬁwmwm
feRagar s

1. Concrete operational stage / Hﬁﬂw SHART

2. Post-formal stage / URe- 3T SawT

3. Pre-operational stage /Uﬁ—w S{ARIT

4, Formal operational stage / 3= TiharaTes gt

Correct Answer :-

« Concrete operational stage / Hﬁw SIIRYT

14) Thorndike’s Law of Readiness is also known as: / Q-IF[@TEE?; & daRal & a9 $I ERUGIE g
W ST ST B:

1. Law of Exercise / 3% &I 99

2. Law of Effect / THTd &1 (AT

3. Law of Action Tendency / Eap ‘;lq'f%f &1 a9
4. Law of Set or Attitude / §< T IFﬁqﬁr &1 |

Correct Answer :-

+ Law of Action Tendency / Eap EIQ'[-;([ &1 |

15) Which of these includes unhappiness when defining abnormality? / SIRITHTRIT P ufeHTia Fed

g 378 | foraw Arg=it e @2
1. Danger to self/others/ T4/3=0 & T 91dH
2. Deviance/ Taaa

3. Dysfunction / IECAR



4. Distress/ ﬁ@T

Correct Answer :-

o Distress/ ﬂTST

16) Which of the following is not an individual difference that affects learning? /

FrafafEa & 3 #9-a1 e safdea siar 18 8 <Y ftrm &t gutfya wrar 82
1. Gender / T

2. Height / TS

3. Socioeconomic status / AT -3 FRUfd

4. Caste / SITfdl

Correct Answer :-

. Height/@ alé

17) Which of the following is not a part of working memory? /fFrafeafea # 9 o9 srdia giﬁf
&1 few 151 82

1. Central executive / PAIT PRAGRT (Vg Tayagfed)
2. Phonological loop / TR-TART Taeht Ur=r (BTG d )

3. Episodic buffer / Qlﬁﬂll3$ dhR
4. Sensory register / ﬂa_qpf e

Correct Answer :-

» Sensory register / ﬂé‘cﬁ IfoReR

18) A child-friendly learning environment shall have / b TP ﬁﬂ! P d STRRTH qraTaror &
= g

1. Learner discipline / RI&T off TR

2. Learner autonomy / fRremef o T
3. Linear exposure / IR TR

4, Teacher authority / Riér &1 fUPR

Correct Answer :-



« Learner autonomy / Rrgndt ol Taraarn

19) Castration anxiety occurs in which stage of psychosexual development? / A faer &t

P A} a1 H FeaduT foidT (SR Togdl) gidl 32
1. Anal /7]al (Ucl)
2. Oral/ﬁm(m)

3. Latency / Yl (ﬁ%}tﬂ)
4. Phallic / AT (Bfe1p)

Correct Answer :-

. Phallic / A (Wfcr)

20) Rehearsing for later relationships is called

1 918 & fezal & o yahay we1 e 8:

1. Developmental Socialization / fAhIITHS THTSHHRUI
2. Secondary Socialization/ fedtae Tt

3. Primary Socialization/ B FHTSIIHROT

4. Anticipatory Socialization/ Yc|XK[IHD HH [SHHRU]

Correct Answer :-

 Anticipatory Socialization/ YHIRITHD H [SHHRU]

21) children from disadvantaged groups are less likely to have good nutrition, access

to good health care, and opportunities to /ﬁﬁlﬁ H'F‘Iff% TI B 3T
?w,a@wmmwugaaﬁv & AAR] DI AHTIAT HH gl
I

1. Play / @@
2. Learn /?ﬂ@%[
3. Study / H&HYq

4. Enjoy / 3TFig

Correct Answer :-



e Learn /Fﬂ@ef

22) CANCELLED

“Individuals are born without built-in mental content, and therefore all knowledge comes from

experience or perception.” This notion is referred to as ./ vagfad o= foht Gﬁﬁ%?f
AHRI® UH30l & UeT g1d &, 3NT gHfee Jt 1 3gya a1 YIRom & 3md 17 39 YRon
Gl & ¥u ¥ Jeffa frar wmar 31

1. Tabula nota / ALY 1T (AT e
2. Tabula rasa / HTGH H:RRYTA (e Imm)
3. Tabula primus / ATIH UGl (AT UISHY)

4. Tabula novus / TTIH T (A -Aa¥)

Correct Answer :-

« Tabula rasa / ATIH FT: YT (el I

23) CANCELLED
Benchmark assessment is also known as: / SAHTR STHAT Bl gg W Dol ofldl %:

1. Summative Assessment / q\l‘lld-lcb HTh

2. Diagnostic Assessment / i'\'ldl"lld-lob Hlch i
3. Interim Assessment / 3T 3fTHTT
4. Formative Assessment / ﬁﬂfUTW SAlh A

Correct Answer :-

« Interim Assessment / 3TN THAT
24) CANCELLED

In big 5 model, personality types are distinguished based on /EI%, sHIsd ﬁ, Hfadd &

THR & MyR R fafkre feg &ma 31
1. Culture personality/ <1 | P fae Afadd

2. Personality traits / faaid fafRyar

3. Emotional intelligence / HIgdh g




4. Season based/ T3 STUTRd

Correct Answer :-

« Personality traits / HfadiTd m

25) CANCELLED

In Erikson’s theory, the aspects individuals generally focus on developing during adolescence and then

during young adulthood is called / Qﬁﬂq%mﬁ, Wmaﬁ P AMHAR W
%@W%ﬁﬂg%ﬁﬁwm%ﬁa%mm%aﬁ?ﬁwwm%m
CIRSIGLIE

1. identity, basic trust/ Ugdl-, Hd fayrg
2. identity, intimacy / UgdI, STHTT
3. intimacy, identity / 3{ARITdI, UgA

4. basic trust, identity/ H{cI ﬁ”dm , Ugdld

Correct Answer :-

« identity, intimacy / g9, fT&adl

26) CANCELLED

According to Piaget when an infant reaches about 7-9 months of age they begin to develop what he
called_ ./ U & 9, 919 Uw R @TUT 7-9 HEH &1 39 a6 Ugaar g, ai d
ReRMER TR IRRATER_ @erdl

1. Egocentrism/ slilﬁlléﬁ

2. Personal fable/ quarl‘l(‘l dOrc'\Hd

3. Object permanence/ d¥q B [Bor|
4, Inductive reasoning/ ANTHATHD GC2

Correct Answer :-

+ Object permanence/ 9] QT

27) CANCELLED

The condition wherein an individual loses awareness and flees his own identity is known as

agf@rﬁrﬁwﬁaﬁéw%rm@ém%ﬁﬂmﬁwﬁm%m%
U EEISE gl




1. Shock / 3TUTd
2. Repression / qH

3. Trauma / AHfETd
4. Fugues / W1

Correct Answer :-
« Fugues / W
28) CANCELLED

The way a person presents any information in his/her brain is an example of his/her. / ] aje I

%ﬁéwﬁrmmﬁwmamaﬁwm%,wmﬁﬂmm

1. Personal characteristics /@W G‘Ff\‘l-lﬁ&FUT
2. Cognitive characteristics / ST 3{THTET
3. Emotional characteristics / lﬂa'q:uf WW&WT
4. Academic characteristics /QT&‘TUT Giﬁ-la&l'UT

Correct Answer :-

« Cognitive characteristics / ITHD Sfeem

29) A teacher can replace the term 'Failure' in his/her feedback with / U fR1&/% g+t ufafear
H ¥ ' qpadr Weg B UfaATia H= gl 8-

1. lack of intelligence /qu@ﬁ HH!

2. Incompetency/&l'chw

3. learning disability SITRTH 3fedT

4, emerging in learning / SR H SUAT

Correct Answer :-

e emerging in learning / STIRTH H IHRAT

30) One student is not able to learn in the class as his/her pet is not well. Most likely factor
affecting learning is -/ T BT H&T H Tg1 WG UT 38T 8§ F P ITDT UTer U] St 81 8
SFRTH B YUIfId HA aTe ) HHIAd RS @



1. lack exercise/ H¥IH CAKE

2. adverse emotional condition/ Qﬁf@ YTaTdT o FRufd
3. lack of sleep/ '_‘ﬂ?{ P HHI

4. lack of nutrition/ TIS0T &1 HH

Correct Answer :-

« adverse emotional condition/ Ufdidr el HTA-THD TRUfd

Topic:- General Hindi (L1GH)

1) o9 gu 931 g sneift oY qu g~ ok Iwd el @1 gra Midt-wid frarel # uehtt Suw qw foramn
3Tie; fora, ST Rt et ar Iu=ur & off 7 v @1 9 | gu W ) € 97 R aral-we
i W1t 8 SR ga fAl 9% sud FIg et 7 uT| snefil ¥ ugd R IHaR A 3R SRl | Ugd U T
Y UT 9 5 CRA W DS AGR dter 7 4| 37T 519 78 gfra1 8% TRe & war]) o) omefra & Wt g @,
I WHM FT Ta1d H31 W e €, 5 g8l $9 7 911 A g w=e aral ok fagl 1, Rl 59
fawa &1 W I ok usT 8, foran @ 6 vo 9ay T o1 94 9% eRedt 98¢ TRY At 3R 3w $IS TR o
8T 78 ol A1 3R 3R g 37! fhard ug 3R Ugrs! 3R 9HaRl &t QR 3fEal &1 Tk A ¢ O g? ge
HTH R {35 U1 THY W19 QT §RIT

ITYe TN B! TSP AR U Y Y= BT IR 9d13¢|
;3T gi=aT fbe Aol 3 udt vt @2

1. T A PIS a1

2. Had TGN

3. Hhad SHRI

4, STETEAN 3R SHARI G

Correct Answer :-

2) W9 gH 931 gt st dt g g iR 3ud snefir &1 g1 WA-md fharal # uehft| IuH g e
3Teig e, Ia=r frelt werit a1 Iu=ar ¥ At 1 firem g1 g < qu St €1 8 i ag evelt ara-aeist
i [Tt 8 SR ga feAl 9% sud $Ig et 7 T Mefial ¥ ugd R IHaR A 3R SRl | g Uw T
Y YT 9 5 CRA W BIg AHGR dter 7 4| 371 519 7 gfra1 8% TR & war) ok omefr & vt g @,
I T BT TAd BT o GiRed 8, 519 98f 99 | 4T Afp fagm o= aral ok fagr 1, freid g9
faw &1 @ Jar 3R usT 8, foram @ 6 e 9wy 1 41 o9 U8 Ret 98¢ TRA At 3R W FIE TR
6T 8 ol A1 3R 3R g 3! fhard ug 3R Ugrsl 3R 9HaRl &t QR 33l &1 1k ¥ ¢ oY g g
HTqgH B 6 U1 U SR I|T e

ST TR B UgHR 1 IR T YT BT I« AT
UR: Iolid &1 faiH Weg T 872



1. Fifa
2. Ffera
3. %i9

4. 3fSilg

Correct Answer :-

3) 9 g It gt e at g7 g ok 3ud el #1 gra M-l fraral A ughft| Sud e e
3Teig e, Ia=r frelt werit a1 Iu=ary ¥ ot 1 firew g1 g < qu St €1 8 i ag evelt ara-aRist
¥ QR B 3R 9ga fe1 ao gud ®ig et 7 U1 e & ugd Rk WMaR A iR 9HaRl @ ugd Uw u
Y o7 99 §9 WA W Bl AR 91 7 4| 311 o9 98 g1 8% TRe & Sa Sk omefial § v g5 8,
I WHM FT TaTd H31 W e €, 5 g8l $9 7 911 AP g w=e aral ok fagl 3, Rl 59
fawa &1 W I ok usT 8, foran @ 6 uo 9ay T o1 99 U8 eRedt 98¢ TR At 3R W $IS TR 9
8T 78 bl A1 3R 3R g 37! fhard ug 3R UgTsl 3R 9HaRl &t YR 3f3al &1 1k ¥ ¢ @ g? ge
TTH R {35 VAT THY W19 QT §RIT

IUYT TR Bl UGHR A IS 7Y U $T Sk 9a1s¢|
U o P Iy wree T 32
1. ¢l

2. AT
3.3

4. adf

Correct Answer :-

4) W9 gu ISt 8 St oY qu gfar ok Iud snefiral &1 gra Widt-uidt fararel ¥ uehit | 3ud g foramn
3Teig e, Ia=r frelt werit a1 Iu=ar ¥ At 1 firew g1 g < qu St 81 ) i a7 evelt ara-aeist
i [Tt 8 SR ga feAl 9% sud $Ig et 7 T Mefial ¥ ugd R IHaR A 3R SRl | g Uw T
Y UT S 5 CRA W DS AHGR dter 7 4| 371 519 7 gfra1 8% TR & war) ok omefr & vt g @,
I T &1 TA1d BT o GiRed 8, 519 98f 99 | 4T Afp1 fagm = aral ok fagr 1, freid g9
fawg &1 @ Jar 3R usT 8, foram @ 6 e 9wy 1 o1 o9 U8 Ret 98¢ TRA At 3R W FIE TR
6T 8 ol A1 3R 3R g 3! fhard ug 3R Ugrsl 3R 9HaRl &t QR 33l &1 1k ¥ ¢ oY g g
HTqgH B 6 U1 U SR I|T e

ST T DI UGHT A1 I Y Y= BT IR 91|
U: ‘UETS’ FT ydigardt o 8?2
RIEY

2. 3fgat



3. 7R
4. ffR

Correct Answer :-

5) 99 gU 931 B i aY qu g 3k Iud Sefirl &1 gra Midl-uidt fharal # ughft 3ud g o
3T fora, Ia-r fadt werit a1 Iu=amw # oft 9 fira ghm gs ot qu s €t 81 % a5 wredl aral-sst
94 QR B 3R 9ga A1 ao 08 $Ig et 9 411 il | ugd Rk WMaR ¥ 3R 9HaRi @ ugd Uw u
Y YT 9F 39 Ul IR BIS TR 9 9 A1 1o 59 g8 gfar a% ave & IFaR) ok smefira @ uft g 8,
I T BT Ta1d BT Mt GiRwd 8, 9 98T $9 | 4T Afe=1 fage s aral ok fagm 1, ’reiq ga
fawa &) @ T 3R usT 8, foran @ f ue qwy U1 o1 oid 9% eRdl 98¢ TRA At 3R SUW FIS WFeR diel
8t T8 Tl A1 3R 3R g0 P! fhard ug 3R UgTsl 3R FMaRl 3t QR 33l &1 1R I ¢ a) g8 g
HIGH SN 6 AT 7Y S™ TET e

ST TR P UgHR A2 IR Y U= $T Ik Farsy|
U: SRl W ATGRET & Ugd S °T?

1. S[Hd}

2. SWRIad It

3. gfgal
4. forard

Correct Answer :-

6) 99 gU ISI gt i &Y qu g 3k Iud Sefirl &1 gra Widl-uidt fharal # ughft| Iud e foramn
3Teie; o, ST Rt et ar Iu=ar & off = v g1 9 | gW ST ) € i 97 R arEt-wRe
f g B 3R aga fo=t a@ 3ud ®15 et 7 U1 el | ugd Rk wMaR 2 iR 9aRt @ ugd uw o
[UY YT 9 5 WRA W BIg AR A 7 4t | 311 o9 I8 gFan g3 e & sHaR] ok amefiral @ vfi g5 8,
I U BT TG1d BT Mt Giwd 8, 19 981 99 | 411 Afe=1 fage s aral ok fagmi 1, ’reiv ga
fava &) @a T iR usT 8, foran @ f ue qw U1 o1 oid 9% eRdl 98¢ TRA At 3R 39w FS 9FeR diwl
8t 78 gl A1 3R 3R g I} fhard ug 3R ugrsl 3R el &t R 3fdl &1 TR A ¢ Y g ge
HIH SN 6 AT 7Y SR TET Eh |

ST TR P UgHR A2 IR Y U= $T Ik Farsy|
W= Rl e af R @2

1. 3RS Y

2. TTH 4 IS 5T

3. GORI Y

4, ArEl-BrS! g



Correct Answer :-
. RGPS ay

7) 9 g9 3t gt e at gu g ok 3ud el &1 gra MdA-md fraral A ughft | Sud e e
3T A, IaAr fodt et a1 Iu=arw | ot 9 fira ghm gg ot qu s €1 81 f a5 eredl aral-ast
g Rt 8 SR ga feAl 9 sud $Ig et 1 uT| snefiral ¥ ugd R HaR A 3R SRl | Ugd Uw T
WY 4T 9 9 WA W Pl AR 919 7 4| 311 979 98 g1 8% e & SHal Sk omefial § 4 g5 8,
I T & Ta1d AT Mt G d 8, 9 g8l $9 | 4T Afe=1 fage s aral ok fagr 1, freiq g9
fawg &) @a T ik ueT B, foran @ f ver wg U1 o1 99 9% eRdl 98¢ RA At 8 3w $iS AR A
TEY 78 It A1 3R 3R g ITH! fobars v 3R vers! 3R SHaR) ) R ef3al & TR A 3 Y gR Qg
TTH R {35 U1 THY W19 IGT §RI

ST TR B! TSP 1R U Y Y= BT IR ad13¢|
TR: Relt Ugd Hat Atz

1. 68

2. oild

3. [H
4, TH

Correct Answer :-

8) W g I3t 81 wraih &t g gfrar 3k Iud sefiral 1 gra Wd-wid fharal & uehht Iwd g e
3T fAr, IaAr fodt e a1 Iu=arw § ot 9 fira ghm gg @t qu s €1 81 % a5 eredl aral-sst
i [Tt 8 SR aga fAl 9 sud FIg et 7 uT| el ¥ ugd R HaR A 3R SRl | Ugd U T
WY 4T 99 §9 WA W Pl AR 91 7 4| 311 979 98 g1 8% TRe & SHal Sk omefial § 4 g5 8,
I T & Ta1d AT Mt G 8, 9 g8l $9 1 4T Afe=1 fage o= aral ok fagr 1, freiq g9
fawa &) @a T ik ueT B, foran @ f ver wg U1 o1 99 9% Rl 98¢ TRA At iR 3w $iS AR A
TEY 78 It A1 3R 3R g ITH! fobars v 3R vers! 3R SHaR) ) R 8f3al & TR A 3 dY gR Qg
TTH R 35 U1 THY W19 QT §RII

ITYe TR B! USHR AR U Y YT BT IR ad13¢|
e e & @ 919 e faur 98 82

1. B!

2. Diddl

3. 34U

4, ey

Correct Answer :-

. Digar



9) &9 qu 91 g STt af g gfrar SR IuF el &1 gra Midl-uidt fharal & uenit 39w g R
3THg e, Ia=r frelht werit a1 Su=ar ¥ ot 1 firem g1 a5 o qu St €1 8 6 as Rl ara-wRist
g Rt @ SR ga feAl 9 sud FIS Setl 7 uT| el ¥ ugd Rk SHaR A iR wHaRl | g U T
Y YT S 3 RA W DIg JHGR A 7 A1 311 51a 75 gFam &3 aRE & e SR el 4 wf g5 8,
I UM BT TG1d BT Mt GiRwd 8, 9 981 90 | 41| Afe=1 fagm s aral ok fagmi 1, ’reiv ga
fawa &) @a T iR usT B, foran @ f ue g U1 o1 oid 98 eRdl 98¢ TRA At 3R 39w $IS 9FeR diwl
8t 8 gl A1 3R 3R g I} fhard ug 3R ugrsl 3R 9Ha’l &t R gf¥df iR A A g ge
HTgH T 6 U1 6y SR I|T /NI

IUa TR P UgHR 1Y IR T U= $T I} qarsy|
T SR & RS St & aR & fraq wrde @ie ot
1. QIigABRI

2. SWRIGd It

3. aqT A

4. RIUSRI A

Correct Answer :-

. dEFHi A

10) 9 g9 g3t g1 St at gu gfrar ik 3u%F el o1 g1a widt-wid fararal & uentt Iud g foramn
3THg e, Ia=r frelht werit a1 Su=ar ¥ ot 1 firem g1 a5 o qu St €1 8 i aw Rl aral-wRist
g Rt @ SR ga feAl 9 sud FIS et 7 uT| el ¥ ugd Rk SHaR A iR wHaRl | g Uw T
Y YT S 3 WRA W DIg JHGR A 7 A1 311 519 75 gFam &3 TE & SaR] ok el 4 wf g3 8,
I UM BT TG1d 1 Mt Giwd 8, 9 981 90 | 41| Afe=1 fagm s aral ok fagmi 1, ’reiv 5o
fawa &) @a T iR usT B, foran @ f ve g U1 o1 o9 9% eRdl 98¢ TRA At 3R 39w $IS 9FeR diwl
8t 78 gl A1 3R 3R g I} fhard ug 3R ugrsl 3R 9Ha’l 9t R gf¥df iR AT A g ge
HTqH B 6 U1 6y SR /T /N

IUa TR P UgHR 1Y YR T U= $T I} qarsy|
=: M- fparal # forae g1 fear gan @2

1. deh-iteh b1

2. faqH &1

3. SFaR] Bl

4. g b1

Correct Answer :-



W9 g0 TSt g1 Seift at gu gfra ik 3ud el o1 g1a widt-wid fararal & uentt Iud g foramn
3Teie; o, ST Rt et ar Iu=ar & ot = v g1 98 o gW ST ) € 97 R e
g Rt 8 SR ga feAl 9 sud SIS et 7 uT| snefiral ¥ ugd R SHaR A iR waRl | Ugd Uw T
Y YT 919 39 SRA W D3 AHGR 9 7 9| 31 519 78 g1 8% T8 & FHaR] SR smefral 9§ Wi g5 8,
I UM &1 Tg1a BT Mt GiRwd §, 9 981 $9 | 41| Afe=1 fage s+ aral ok fagmi 1, v 5o
vy o @e ar ok ueT 2, ot @ 6 v 9 T o1 919 O% Rt 958 TRA A R THR P TR A
TEY 7 Tt W1 3R 3R gH IT3! fobars v 3R Uers! 3R SHaR) & R ef¥al 1 TR A 3 dY gR Qg
HTqgH g1 o U1 6y S I/ /N

ST TRl $ UgH 1 U T Y= T I«ik Farse|
w=: fage o1 s w82

1. fafre I

2. fafay =

3. fauTiora I
4, fAid 3=

Correct Answer :-

. fafry 3=

12) 9 g9 g3t g1 St at gu gfrar ok 3ud el o1 g1a widt-uid fararal & uett Iud g foramn
3Teie o, ST et et ar Iu=ar & ot = v g1 98 o gw ST 1 9 i 97 eRe areEt-wee
g Rt 8 SR ga feAl 9 sud $IS et 1 uT1 snefiral ¥ ugd R SHaR A iR wHaRl | ugd Uw T
Y YT 919 39 SRAl W D13 AHGR 9 7 A 31 519 78 g1 8% T8 & FHaR] SR smefral 9§ wi g5 8,
I UM &1 Tg1a H31 Mt GiRwd §, 9 981 $9 | 41| Afe=1 fage s+ aral ok fagmi 1, ’reiv 5o
v o @e ar ok ueT 2, foran @ 6 v 9 T o1 919 U8 Rt 958 TRA A R THR P TR A
TEY 78 Tt N1 3R 3R gH ITP! fobars U 3R Ugrs! 3R SHaR) & R ef¥al 1 TR A 3 Y gR g
HTqH g1 6 U1 6y SR I|T /N

ST TRl F UgH 1 U T Y= T Ik Farse|
W faqm &1 Wt Wf-fase 82

1. fo+maE

2. d+3H

3. g+

4. fa+3=

Correct Answer :-

. fa+gm

13) &9 g0 991 g1 SISt af g| girar ok Suds Srefral o1 g1 didt-Aid fharal § gt 39+ gwe foramn
3Teie v, S Rt et a1 Su=are & ot = v 1 98 o gW S ) € 97 eRe areEt-wee
qf R 3 3R 9gd 3 9 39 F1S emet 7 uT1 ey | usd R SiaR @ SR wiFaR) @ ugd e T



Y 4T 9 §9 WA W I AR 9 7 4| 311 o9 98 g1 83 TR & e ok amefial @ vf g5 8,
I U BT Ta1d BT Mt GiRwd 8, 9 98T $9 | 411 Afe=1 fagm s aral ok fagmi 1, ’reiv ga
fawg &) @a T iR usT 8, foran @ f uer qw U1 o1 oid 9% Rdl 98¢ TRA At 3R 39w FS 9FeR diwl
EY 78 gl A1 3R 3R g I} fhard ug 3R ugrsl 3R el &t R 3f3dl &1 TR A ¢ Y g ge
HIH SN 6 AT 7Y SR TET e

ST TR F UgHR A2 IR Y U= $T Ik Farsy|
TR HE S IU=UT | gl 82

1. 93!

2. RIS

3. 399 A B TE
4. Bt

Correct Answer :-

14) W9 g0 g3t g1 St ot gu gfrar oik 3u%F el o1 g1a widt-wid fararal & ventt Iud g foramn
3Teie; foram, ST Rt et ar Su=ar & off = v g1 97 o gW ST ) € i 97 R aret-see
f R B 3R 9ga fo=l a@ 3ud 315 et 7 U1 el | ugd Rk wMaR 2 iR 9aRt @ ugd uw
[UY YT 9 3 WA W BIg AR A 7 4t | 311 o9 I8 gFam 83 e & sHaR] ok amefirdl @ vfi g5 8,
I UM BT TG1d BT Mt GiRwd 8, 919 981 99 | 411 Afe=1 fagm s aral ok fagmi 1, f’reiv ga
fava &) @ T iR usT 8, foran @ f uer qwg U1 o1 oid 9% eRdl 98¢ TRA At 3R 39w FS 9FeR diw
8t 78 gl A1 3R 3R g I} fhard ug 3R ugrsl 3R wHaRl &t R 3fdl 1 TR A ¢ Y g ge
HIH SN 6 AT 7Y SR TET Eh |

ST TR F UgHR A2 IR Y U= $T Ik Farsy|
UH: SHaR] T THad- T GRIT?

1. WlHaRR

2. S}

3. S[a’T

4. SR

Correct Answer :-

15) W9 g0 g3t g1 Seift at gu gfrar ik 3u%F el o1 g1a widt-wid fararal & ventt Iud g foramn
3Teie; o, S et et ar Su=ar & ot = v g1 98 o gW ST ) 9 i 97 R aret-were
g Rt @ SR ga feA 9 sud SIS et 7 uT| el ¥ ugd R SHaR A iR wHaRl | g U T
TG YT 9 9 YRl R DIg AR et 7 A1 311 59 98 a1 g3 a8 & JHaR] 3R el § wit g8 8,
I U BT TG1d BT Mt GiRwd 8, 919 981 90 | 41| Afe=1 fage s+ aral ok fagmi 1, ’reiv 5o
fawg &) @a T iR usT B, foran @ f ve g U1 o1 oid 9% Rdl 98¢ TRA At 3R 39w $IS 9FeR diwl



8T T8 ol A1 3R 3R g 3! fhard ug 3R Ugrsl 3R 9HaRl &t QR 3f3al &1 1k ¥ ¢ oY g g
HTgH B U1 U SR I|T 8N

SULT T B TGP A2 TS T YT $T SR AR
W= fpare &1 agaae gm?

1. Hidre

2. fparel

3. fararrel

4. fordral

Correct Answer :-

A vl areft A § '
a9 ¢ 4 9gd WR B

ITYe U= ) Ugeh? 19 YR o a1l R $T S@i¥ Sa1s¢|
UR: ‘BIE Gg ISt a1 & gerar a1 3 72

1. HIY decfHl

2. 3FIHA g

3. URATE gl BT

4. 3T eRITd q TgHR a1 HRAT

Correct Answer :-



. 3O SRITd W TGP ST BRI

17) g8 fafgar =n-

I AR B
Y- Gt & g

Y, wAEm AN

98 DI "andt Rifga

A v archt A §

T 3 I 95 WR g1

ag fafsar =n-

o Gid B

¢ T9-919T & WifaR

I ISA B M A &

98 B Ye e fafea

A vl areft A §

73 fae-T A sga wuR 1

gg fafsar =i-

T AR BT

Tt 7Y o1 fed el wR

ST P Al & STl 8

g% BIdt IRTer fafsan

i vEl areft A §

9 T4t & 9gd WR B

ST U= Bl g 1 IR o a1 U BT S@X qarsv|
UR: ‘g4 A} BT fod Taia ®e ufa &1 ordf a2
1. 390 Y PIs Tl

2. 141 &1 fed Iga™ & fag
3. 941 & U ¥ U@ hR b

4, TE1 BT G HRb

Correct Answer :-

o T BT I IRb



fAvEi arelt & §

g3 foeq A aga wR g1

ag fafgar =n-

I AR B

TGl I o1 fed eea R

S BT At o STt @

98 S IRl Rifsar

A vl archt A §

IF TN A TG WR ¢

STIT U Bl UgHR -1 I 9 a1ad Y= T IR qarse|
ue: fafsar 9fa ares a1 @l 82
1. STH Y IS ol

2. AIgaH

3. JHSH

4. 98 & aH
Correct Answer :-

S e

Ao ach d§
T3 T A gga WR g

ST U= BT g 1 I o a1 U BT S@iX qarsv!
wY: FEY Treg W B Al I 8?2
1. HfdIaTD

2. HIdddh



3. JqgdrEa®
4, Sifdara®

Correct Answer :-

ST IR DI UgHR -1 T WM aTdd U BT S« garst|
WR: W T FHHTST 2eg 1 32

1. Had Agsd

2. Hdd g

3. had We

4, IWRIad gt

Correct Answer :-

o SWRIgd gt



O A Igd WR B

gg fifsar=n-

o W P

¢ I9-919T & WifoR
TISAPIM A &

98 BI1 e Tl Rifgan

A v arcft A g

T e A sga @R 71

gg fifsar=-

AT AR B

TG T FT @ eela Hr

ST BT Hidl & STl @

9% B! IRaTe fafsar

A v arcft A §

IR T A TgA AR B

ST YIS Bl Ugdh A1 I o aTel U= $T IR 9a1g¢|
U=H: 9d) T ygigars 78} 82

1. Yodd-q

2. YarfgHl
3. giar
4, dfe=ir

Correct Answer :-



SUYF U D1 UGHT A1 I oI a1 ¥ BT I Jad13¢ |
WA TR I qred 82

1. 64 ¥ gad

2. RReH

3. 79T

4. 774 9 gard

Correct Answer :-

. T4 A G

A v arcft A g '
3 7 A Tgd WR B

ITYe Ui 61 Ugdh: ) IS 9 a1d U= o7 Ik 138
W UGl BT T 54T 82

1. e

2. ghg

3. GtaTr

4, offcl

Correct Answer :-



24) dg fafsars-
AT AR BT
FURIA Rk |
IR, MA@ A
a8 BIdt "ant fRfgar
A v arcft A

g 3T A 9gd WR 3|
g8 fafsar=n-
&S W BT

§¢ T-914T1 & Wik
MIa IR MAG ?

9% 311 e Al Rifgan
A v areh A

g3 fie A gga wWrR 81
gg fifsarsn-
g AR B

Tl Tl BT fd eela w
Sl T At & Sl

98 B4 IR fafgan
A vt arh A E

T T A Tga WR B
ITa TR $l UgH -1 T 9 aTel U= HT Ik aa13¢|
U ‘g P A | g?
1, oidi+

2. fpaIR

3. Ry
498

Correct Answer :-



ISt A1 F1 fget ecla o

T BT At @ St @

98 DI IRt g

Ha vt areht A §

g3 7 | 9gd WR B

ST TSN P UgH? T IR W aTd U $T I« gaTse|
U= WRgd Sfdar A Rifgar i 32

1. el daf arent

2. IRIed ot

3. TRl

4, Gt

Correct Answer :-

o SWRIad gt

98 DI Yg atelt Rifgan

A vEf arcft A g

73 fas A Tgd WR B

g8 fRfsar=n-

AT AR BT

I3t 7<) b1 fed cala HR

Sl T Al o STl &

9% B! IR fafsar

A v arcft A §

9 T4 A Tgd WR B

IUY U Bl USHR -7 IS FH a1 U BT I aad1s¢|
UR: ¥’ &1 Ay o gme
1. 9R9g

2. Hiot

3. Y

4. THHIH



Correct Answer :-

§¢ I1-914T & Wik

MISAFTMAN B

9% 311 e Al Rifgan

A v ari A g

g3 e A ggd wWrR g1
g8 fRfsar -

iﬁ%rm?w

TG Af P fea ecia s

W BT A F et 8

98 I TRt fRifgan

A v arh A E

T T A Tga WR B

ST U= B UgHR -1 TR 9 aTd U T Sk 9a1sTl
= RIfEar &1 g w82
1. fafear

2. STH A BIS gl

3. faen

4, st

Correct Answer :-



THISA PR M Tt §

98 DIl Yg aral fafean
A v arcft A g

73 fas A Tgd WR B
a3 fafEar <i-

T AR F

TG T FT @ eela Hr
ST BT A & St @

9% BId IRaren fafsar
A v ar A g

TR TR A Tga TR B
IUY U DI USHR -1 IS FH 1 U BT I aa1s¢|
< faeH o1 3 82
1. Hig-118

2.9

3. fafora

4, Thid

Correct Answer :-

A v ar A g

T3 3T A 9gd WR 3|
g% fafEar -

3 T B

§¢ - 9141 TR
WA PTMAS ?

9% 311 e Al Rifgan
A v areh A E

g2 fie A gga wWrR 81
ag fafsar =i-

T AR T

TG A P fea eta o
T BT At @ St @

98 DI IRt g
A v arh A E

T T A Tga WR B
STa TR Bl UgH -1 T 9 aTel U= o7 Ik aa13¢|

U= TRgd Sfdar A Rifsw # fFaa wr 82



1. Fal
2. IWId g+t
3. fasH

4, 3d

Correct Answer :-

RIGRTCIE IR

73 fas A Tgd WR B
gg fifsar=n-
AT AR HR

T Tt BT fed ecta o
ST BT Hidl & STl @

98 BIdt IRare fRafsar
A v arcft A g

TR TR A Tga TR B
ST Ui Bl USHR -7 IS 9 a1 ¥R BT I Ia13¢|
U= Fardt | areud 82
1. 3 Ig arel

2. I g arell

3. 3fqtd Xg arell

4. TART=T X8 arem

Correct Answer :-

« g ara

Topic:- General English(L2GE)



1) Read the passage carefully and answer the question given below:

In 1726, a curious case of Mary Toft fooled much of Britain. Mary Toft of Godalming, near Guildford,
in Surrey was a twenty-five-year-old illiterate servant, who claimed she had given birth to a litter of

rabbits. According to reports that reached the court of King George I, on September 27t Mary had
given birth to something resembling a liverless cat. The reports noted that Mary had lost the child
she was carrying just a month earlier in August 1726 and nevertheless had continued to appear
pregnant until the baffling incident.

The story gets stranger when a Guilford doctor named John Howard visited Mary and over a period
of the next month assisted and recorded the delivery of many different animal parts. She had
produced a rabbit’s head, the legs of a cat and in a single day, nine dead baby rabbits. England’s
greatest doctors, scientists and the King’s secretary were informed about these supernatural
occurrences. A Swiss surgeon-anatomist named Nathaniel St. Andre and secretary to the Prince of
Wales named Samuel Molyneux were dispatched from the Royal court to investigate this mysterious
case.

Who found Mary Toft’s story credible?
1. Doctor John Howard from Guildford

2. England’s greatest doctors and scientists
3. The King

4. Nathaniel St. Andre and Samuel Molyneux

Correct Answer :-

e Doctor John Howard from Guildford

2) Read the passage carefully and answer the question given below:

In 1726, a curious case of Mary Toft fooled much of Britain. Mary Toft of Godalming, near Guildford,
in Surrey was a twenty-five-year-old illiterate servant, who claimed she had given birth to a litter of

rabbits. According to reports that reached the court of King George I, on September 27th Mary had
given birth to something resembling a liverless cat. The reports noted that Mary had lost the child
she was carrying just a month earlier in August 1726 and nevertheless had continued to appear
pregnant until the baffling incident.

The story gets stranger when a Guilford doctor named John Howard visited Mary and over a period
of the next month assisted and recorded the delivery of many different animal parts. She had
produced a rabbit’s head, the legs of a cat and in a single day, nine dead baby rabbits. England’s
greatest doctors, scientists and the King’s secretary were informed about these supernatural
occurrences. A Swiss surgeon-anatomist named Nathaniel St. Andre and secretary to the Prince of
Wales named Samuel Molyneux were dispatched from the Royal court to investigate this mysterious
case.

Who ruled Britain in 1726?

1. Doctor John Howard



2. Prince of Wales
3. Queen Victoria

4. King George |

Correct Answer :-

+ King George |

3) Read the passage carefully and answer the question given below:

In 1726, a curious case of Mary Toft fooled much of Britain. Mary Toft of Godalming, near Guildford,
in Surrey was a twenty-five-year-old illiterate servant, who claimed she had given birth to a litter of

rabbits. According to reports that reached the court of King George I, on September 27th Mary had
given birth to something resembling a liverless cat. The reports noted that Mary had lost the child
she was carrying just a month earlier in August 1726 and nevertheless had continued to appear
pregnant until the baffling incident.

The story gets stranger when a Guilford doctor named John Howard visited Mary and over a period
of the next month assisted and recorded the delivery of many different animal parts. She had
produced a rabbit’s head, the legs of a cat and in a single day, nine dead baby rabbits. England’s
greatest doctors, scientists and the King’s secretary were informed about these supernatural
occurrences. A Swiss surgeon-anatomist named Nathaniel St. Andre and secretary to the Prince of
Wales named Samuel Molyneux were dispatched from the Royal court to investigate this mysterious
case.

What was the curious case of Mary Toft?

1. It was the strange instance where Mary Toft appeared mad and fooled people

2. It was the story of Mary Toft, who had given birth to something resembling a puppy
3. It was the story of twenty-five-year-old servant who could not read or write

4. It was an elaborate prank that fooled much of Britain

Correct Answer :-

It was an elaborate prank that fooled much of Britain

4) Read the passage carefully and answer the question given below:

In 1726, a curious case of Mary Toft fooled much of Britain. Mary Toft of Godalming, near Guildford,
in Surrey was a twenty-five-year-old illiterate servant, who claimed she had given birth to a litter of
rabbits. According to reports that reached the court of King George I, on September 27th Mary had
given birth to something resembling a liverless cat. The reports noted that Mary had lost the child
she was carrying just a month earlier in August 1726 and nevertheless had continued to appear
pregnant until the baffling incident.



The story gets stranger when a Guilford doctor named John Howard visited Mary and over a period
of the next month assisted and recorded the delivery of many different animal parts. She had
produced a rabbit’s head, the legs of a cat and in a single day, nine dead baby rabbits. England’s
greatest doctors, scientists and the King’s secretary were informed about these supernatural
occurrences. A Swiss surgeon-anatomist named Nathaniel St. Andre and secretary to the Prince of
Wales named Samuel Molyneux were dispatched from the Royal court to investigate this mysterious
case.

Select the person dispatched from the Royal court to investigate the curious case of Mary Toft.
1. Doctor John Howard from Guildford

2. King’s secretary

3. Prince of Wales

4. Secretary to the Prince of Wales

Correct Answer :-

e Secretary to the Prince of Wales

5) Read the following lines of a poem and answer the question given below it.
Early morning, the day before yesterday,
under a slab of stone,
in a crack,
eyes glittering,
forked tongue licking and flashing,
a frog swelling his belly,
he lay there quietly:
a baby snake, two hands long,

a green snake.

What part of the day is the poet referring to in the given lines?
1. Evening

2. Dawn

3. Afternoon

4. Mid morning

Correct Answer :-



6) Read the following lines of a poem and answer the question given below it.
Early morning, the day before yesterday,
under a slab of stone,
in a crack,
eyes glittering,
forked tongue licking and flashing,
a frog swelling his belly,
he lay there quietly:
a baby snake, two hands long,

a green snake.

Which of the following statements is not true about the creature?
1. It was very agitated.

2. It was resting under the slab of stone.

3. It was a very young snake.

4. It must not have been hungry.

Correct Answer :-

o It was very agitated.

7) Read the following lines of a poem and answer the question given below it.
Early morning, the day before yesterday,
under a slab of stone,
in a crack,
eyes glittering,
forked tongue licking and flashing,
a frog swelling his belly,
he lay there quietly:
a baby snake, two hands long,

a green snake.



The words, ‘two hands long’ in the last but one line refers to:
1. All of the above

2. The two hands the snake

3. The distance between the snake and the poet

4. The length of the creature

Correct Answer :-

e The length of the creature

8) Read the following lines of a poem and answer the question given below it.
Early morning, the day before yesterday,
under a slab of stone,
in a crack,
eyes glittering,
forked tongue licking and flashing,
a frog swelling his belly,
he lay there quietly:
a baby snake, two hands long,

a green snake.

What is spoken about in the given lines?
1. A green baby snake

2. A green snake

3. Asnake

4. A frog swelling snake

Correct Answer :-

e A green baby snake

9) Fill in the blank with the correct option in the given sentence:



| am tall--- than the rest of my classmates.
1. --ful

2. ---tion

3. ——-est

4, —er

Correct Answer :-

10) Fill in the blank with the prefix in the given sentence:

Certain external policies enforced by the country tend to ---- value its currency.
1. de-

2. free-

3. re-

4, less-

Correct Answer :-

o de-

11) Fill in the blank with the most appropriate conjunction .

he waited for his doctor’s appointment, Rahul sat in the waiting room reading the
newspaper.

1. Even if
2. While
3. Besides when

4. Since

Correct Answer :-

« While

12) Fill in the blank with the correct option from those given below:



The team ____ walked away with the prestigious trophy.
1. triumphant

2. triumphing

3. triumphed

4. triumphantly

Correct Answer :-

 triumphantly

13) Which of the following options best combines the two given sentences?

He is weak. He will pass.

1. Despite of his weakness, he will pass.
2. He is weak and he will pass.

3. He is weak, so he will pass

4. He is weak, but he will pass

Correct Answer :-

e He is weak, but he will pass

14) Choose appropriate articles for the given sentence:

My aunt lived on ground floor of old house on River Thames.

1. the, an, the

2. a, the, no article required
3. an, no article required, the
4. no article required, a, the

Correct Answer :-

« the, an, the

15) Choose the appropriate option that rewrites the given sentence in its active voice.



We are served tea at 4.30 pm in the canteen by the servers.

1. We have been served tea at 4.30 pm in the canteen by the servers.
2. We were served tea at 4.30 pm in the canteen by the servers.

3. The servers will be serving tea at 4.30 pm in the canteen.

4. The servers serve tea at 4.30 pm in the canteen.

Correct Answer :-
e The servers serve tea at 4.30 pm in the canteen.

16) Choose the appropriate synonym for the highlighted word in the given sentence.

Modern emancipated women demand equal opportunities in the workplace.
1. immortalized

2. solidified

3. weakened

4, liberated

Correct Answer :-
o liberated

17) Choose the appropriate tenses to fill in the blanks in the given sentence :

Ifyou___ away now, your friends you.
1. went, would have missed

2. go, will miss

3. gone, missed

4. can go, can miss

Correct Answer :-
o go, will miss

18) Choose the appropriate antonym for the highlighted word in the given sentence.



Her work in the field is praiseworthy.
1. valiant

2. laudable

3. creditable

4, dishonorable

Correct Answer :-
o dishonorable

19) Choose the appropriate pronouns for the following sentence:

Itisfor __ to take a decision whether ___ want to be with____ or not.
1. they, who, it

2. he, him, they

3. who, him, them

4. them, they , us

Correct Answer :-

o them, they, us

20) Choose the appropriate prepositions for the given sentence:

Charan asked Dianato come ________ his house so they could go the revision papers
1. into, from

2. into, with

3. to, for

4. over to, through

Correct Answer :-

e over to, through

21) Choose the option that best explains the highlighted expression:

The orator’'s comment about the recession was wide of the mark.



1. not to the point
2. precise
3. indirect

4. very scanty

Correct Answer :-
« not to the point

22) Choose the option that best explains the highlighted expression:
At the end of the meeting the chairman proved to be a man of straw.
1. a worthy person

2. a man of no substance

3. an unreasonable person

4. a flexible person

Correct Answer :-
e a man of no substance

23) Choose the option that best transforms the sentence into its Indirect form:

He said, “"Oh dear! I have spilt the milk again!”

1. He cried oh dear and said that he had spilt the milk again.
2. He sighed and said | had spilt the milk again.

3. He sighs and says that he has spilt the milk again.

4. He sighed and added that he had spilt the milk again.

Correct Answer :-

» He sighed and added that he had spilt the milk again.

24) Choose the option that substitutes the given phrase appropriately.

A small enclosure for cattle, sheep, poultry, etc.

1. Cellar



2. Kennel
3. Stable

4. Pen

Correct Answer :-

25) Read the sentence carefully and choose the option that has an error in it:

The backbone of the single-humped camel is not curved upward in the middle, like many people
suppose.

1. is not curved upward
2. like many people suppose.
3. The backbone of the single-humped camel

4. in the middle,

Correct Answer :-
¢ like many people suppose.

26) Change the given statement to indirect speech.

“What did you eat for breakfast today?” The doctor asked me.
1. The doctor asked me if I had eaten breakfast that day.

2. The doctor asked me if I ate breakfast that day.

3. The doctor asked me what I had eaten for breakfast that day.

4. The doctor asked me if [ have eaten breakfast today.

Correct Answer :-
» The doctor asked me what I had eaten for breakfast that day.

27) Choose the right tag:

Raghu's parents hate roast potatoes, ?

1. do they



2. aren't they
3. haven't they

4. don't they

Correct Answer :-

» don't they

28) Fill in the blank with the most appropriate preposition from the options given.

There is something vague this contract; I will ask my lawyer to check it.
1. on

2. about

3. for

4. by

Correct Answer :-

» about

29) Choose the most appropriate determiner from the options given below.

Janu and Malini applied to the air force. woman was appointed.
1. Neither

2. Many

3. Either

4, Both

Correct Answer :-
¢ Neither

30) Choose an appropriate modal for the given sentence:

You borrow my new book until you return my old one.
1. could not

2. would not



3. may not

4. ought not

Correct Answer :-

Topic:- Mathematics (MAT)

1) If xy=1 then factorization of x+y+2is: /
afe xy=1 ar X+y+2 BT U %:

1. (x+1)(y+1)

2. (x+1)(y-1)

3. (x-1)(y+1)

4. (x-1)(y-1)

Correct Answer :-

o (x+1)(y+1)

2) Match the following:-

i. 1 added to x a) -5q

ii. 8 subtracted from p b)x+1
iii. -5 multiplied by q c)p-8/
Frafafea &1 e 3:-

i. x ¥ 1 StsAT a) -5q

ii. p ° 8 YT b)x + 1

iiii. -5 @I q | YOI HAT c)p-8
1.i—b,ii—a,iii—c
2.i—b,ii—c,iii—a
3.i—c,li—a,iii—b

4. i—c,ii—Db,iii—a

Correct Answer :-

e i—b,ii—c,iii—a

3) All round development of a child is reflected through ./



TP 9= &1 Haiiir faera & A1y A uRaféd siar o
1. Anecdotal record / Jdid (TTdsIed) M@

2. Case study record / TG 3T (B4 o) AT

3. Cumulative record / o} 3

4. Scholastic record / Q& ifrerg

Correct Answer :-

e Cumulative record / Tt sifterg

4) If two cubes each of edge 10 cm are joined end to end, then the surface area of the resulting
cuboid is ./

10 T PR I P s RRIA IS € A uRvmi ey s qfla a8
1. 1500 sq cm /
1500 T St
2. 1000 sq cm /
1000 I Gt
3. 500 sq cm /
500 o JHT
4. 750 sq cm /
750 T JHT

Correct Answer :-
e 1000 sq cm/
1000 g7f et

5) What is the number of the diagonals we can draw from one vertex of a polygon with 11 sides? /
11 YST13ff 9T SEYS P TP N A g4 fpaq faewof Rifia o aod &2

1. 8

2.10

3.9

4.7

Correct Answer :-



6) Which of the following statements is NOT true about whole number? /
fFrafafaa d T yof Jensi & Jau & S19-91 $Y 97 781 82
1. 0 is a counting number but not a natural number. /
0 Ueh TTUT T TRAT B, Afh1 Ueb WIghd T -1 g |
2. The whole number 0 doesn’t have any predecessor. /
qUl ST 0 BT Blg gaad! &1 Te1 sl g |
3. The additive identity of all natural numbers is a whole number. /
Tt U1 et Bt AT THReudT Ueh uf TRe gt 3|
4. The predecessor of the first two digit number is always a single digit number. /
UGS Gl el 1 T B! gada! ST gHRI U b 1d T Blell & |
Correct Answer :-
« 0 is a counting number but not a natural number. /
0 Ueh TTUT T8 TRAT B, Afh+1 Ueb WIghd T -1 g |

7) Which one of the following statements is true about integer? /
frafafea & & F9-91 oY Qife & ddy & 9a 22
1. On dividing a negative integer by a negative integer we get a negative integer. /

THh BUTAS QUifes HI T BUTES QUG I faHTIIT B TR 8 HUNeTd Ul U gl §
2. On subtracting a negative integer from a positive integer we get a positive integer. /

UH YIS YU F T BUTEHS YU &1 geH IR 81 U Y-TeTd Julids UT gidl g1
3. When a positive integer and negative integer is added we get a negative integer. /

9 U YATHS QUIich 3R UMD QU B SiIST STTd g df 89 FBUeTd Julids UT gIar g
4. On multiplying a negative integer with a positive integer we get a positive integer. /

TS HBUNEHS YN & 1Y Th YT QUIfeh &1 0T - WR gH Y-S JUTieh U gial g |

Correct Answer :-

» On subtracting a negative integer from a positive integer we get a positive integer. /

UH TS QUi F T BUTEHS YU &1 ge IR g1 U Y-TeTd Julids UT gidl g



8) Which one of the following statements is correct about number? /
FafafEa # § oH-91 53 S= & @6y | 99 g2
1. Nine is a prime number. /
T SHT T 3|
2. There are only 9 prime numbers below 20. /
20 Y 2 Had 9 SHHTY FAT B |
3. Every number is a multiple and factor of itself. /
Ui e TT BT T T[0T 3R Uedh Bl g
4. Number of multiples of a given number are finite. /
&) TS T Ui bt TRe i BI B
Correct Answer :-

» Every number is a multiple and factor of itself. /
T T WY T Teb 0T 37K °Ueeh Bldl!

9) A train covers a certain distance at a uniform speed. If the train had been 5 km/hr faster it would
have taken 1 hour less than the scheduled time. And if the train had been slower by 20 km/hr, it
would have taken 6 hours more than the scheduled time. Then the distance covered by the train is:

/
T 3 T YA °Tel @ il g5 U i3 gt aa st 81 afe 39 5 bt/ der A °rer @ "o € df a8
FRruffa Twa A 1 g1 39 At 3 3R afe 37 20 i/ ger dhft nfa T wadt & @ Fuffa Toa @ 6 @2 it
At g, o S GRT a9 $T WA g 2
1. 2240 km /
2240 fouit
2.2000 km /
2000 foat
3. 1050 km/
1050 fopeit
4, 1080 km /

1080 oo HT

Correct Answer :-

e 1050 km/



10)
In the given figure, if #C=40°, then ~A and #Bare:
B
A C
& o5 Ipla &, afg £C=40° 8, G LA vd £BE:
50°_90°
100°_40°
2.
40°,100°
900 S0
4.

Correct Answer :-
40=.100¢°

11)
In a circle centred at “A°, the angle between AB and AD is 80° where points B and D lie on the
circle. If C lies outside the circle and CB and CD are the two tangents . then the value of angle

BCDis |
A Fg a1 U dcd H, AB Td AD & &I &1 10T 80° @, Sigl f¥9g B '@ D 9od W
feorg §1 3f¢ C gcd & aIeg & Rud § @ CB 3R CD & ¥99R@r &, dr &1 BCD

&AW B

110°
1.

100
2.

120e°

3.



4, o

Correct Answer :-

100°

12)

AAE(C is an isosceles triangle in which AF = AC. Pis a point inside the AABC such that
APBC is an equilateral triangle If » 4 = 30°then find » ABP.

aﬂscww@a’@ﬁ‘aﬁa%ﬁmﬁmB:Ac ol AABC® 37eY U fdg P 56 o &
fr ApBC we waag BRI §1 AR 24 =30°%, @ 24BP d R

A50
1 45

15¢
2.

Ly
3.

25°
4,

13) 1y ADEF 2D=60°.2F=50° then /

ADEF &, 2£D=60°,2F=50°dr:
1. FE>DF>DE
2. DE=FE=FD
3. DE<DF<EF

4. DE<FE<DF

Correct Answer :-

o DE<FE<DF



Ifthe sum of the squares of zeroes of polynomial 6x? + x + k is % ,then the value of kis____

aﬁa@ﬂaex2+x+k$aﬁﬁa¥aﬂﬁmaﬁ% gAY k& AT

-2

pa | o

3.2

4.3

Correct Answer :-

. -2
15) . ) 3 i
Find the value of x° -I-I—zwhenx e 2
Sd x —- =28, @l x*+ S & AT A W
1.2
2.8
3.6
4. 4

Correct Answer :-

16)

[fthe tangents PA and PB from a point P to a circle with centre O are inclined to each other at an
angle of 80° then #POA =

gfe veh fdg P & U “O" &e arell Uah dod &1 ar T Y@ PA gr PB Tdh-g@y &
80° & 0T u¥ fHedr 8, df zPOA= |

g0
1.

50°
2.

250



30°
4,

Correct Answer :-

17)

The average temperature of Mondayv, Tuesday and Wednesday was 40°C. The average
temperature of Tuesdav, Wednesday and Thursdav was 41°C. If the temperature on Thursday
was 42°C, what was the temperature on Mondav?

HIHAR, AR U4 gUaR & 3iad argae 40°C A1) AIeER, §9aR Ud I7aR &l
ra amATe 41°C om I AR FT ATGART 42°C o, dF HHGR F d9A= hda
ar?

41°C
1.

38°C
2.

40°C
3.

39°C
4,

Correct Answer :-

309

Find £A+ 2D & £B + £C of a cyclic quadrlateral ABCD in which
LA=3x-1 /B=y2 2C=2v+6&D=5z+7 1/

T&h ThIT Tgae ABCDH A +./DUF ¢«B+2C A &,
o £A=3x-1, s/B=vy2 +C=2y+6UWd +D=5x+7 gl

206°, 154°
200°, 160°

E75% PBST



168°, 192°

Correct Answer :-

206°, 154°

19)  An exterior angle of a triangle is 135% and its two interior opposite
angles are equal. Each of these equal angle is:

T TS T 9 HIOT 135° § TN $6E &1 Id: TEIE HIOT
THA ¢ 58 T Il HIT g

47 ¥
1.

52 ¥4°
2.

67 ¥4
3.

450
4,

Correct Answer :-

67 150

20)
Find the value of x in the given figure.

0 50/\25
B C

A
/&Y TS A H, x FT AS AT

130°

85°
2.



110°

00"
4,

Correct Answer :-

85°
21) B - 2., 6 B e
The propertv that allows to calculate (5 * E) i g (5 ® E) Tz B /
ar @l &r aor § A (Exij +(5xi}=5 & o fY AT ST B

1. Associative property /
BIECREIN]

2. Distributive property /
faaRor o7

3. Closure property /
HaReD 00

4. Commutative property /
AT 07

Correct Answer :-

« Distributive property /
feraor qor

22)
In AABC, 2C =90° , BC=AC=3y/2 ,then AB= ./

AABC #, 2C=90° , BC=AC=3/2 . dTAB=_

1.5
2.7
3.8

4.6

Correct Answer :-



2
3) In a quadrilateral ABCD, #A+ #Cistwo times £B+2D_If
£A=140° and » D=60° , then £ C=?
UF TG ABCD #, LA +2C. £B + 2D &T GR[T &1
afe £A=140°31R 2 D=60°ar .C=?
, 60°
1000
2.
80°
3.
120¢
4,

Correct Answer :-

100°

24)

Geetha had Es 600.She spends% of her monev on note- books, é of the remainder on

stationary items and % of the remainder on cosmetics. How much money is left with her?
AT & 9 600 T | TF Alegd T TS N & -, A@d A W AT F - 3R
WWW&WH%@%W% 39 9 fohaelt i 9w a=r 27

1. Rs 120/
120®UU
2. Rs 200/
200 ®Uq
3. Rs 300/
300 ®Uq
4. Rs 320/
320%UU¢
Correct Answer :-

e Rs200/



25) Choose the number not divisible by 11. /
11 9 faufora =8 g1 arelt eI &1 78 B

1. 1230321

2. 50169306

3.902154

4. 6138165

Correct Answer :-

e 1230321

26) ABCD is a parallelogram and the midpoint of the sides of ABCD are joined to form another
parallelogram PQRS. If the area of PQRS is 20 cmz, then the area of ABCD is i

ABCD T® HHTHIAR gy 8 94T ABCD & YTt & Heafdg frae ue 3= guiar agys PQRS &1 fmfur
Pl 21 afe PQRS T &Awd 20 AHI2 §, 9 ABCD T &I%d gl

1. 80 cm? / 80 92

2. 40 cm? / 40 T2

3. 100 cm? / 100 T2
4. 1600 cm? / 1600 T2

Correct Answer :-

« 40 cm? / 40 TH2

27) A numeral is the ./

TS GBIiH gl

1. position of an element in a sequence / Yh 3HJhH ff U dcd ﬁ f\aﬁ
2. symbol to represent a number / WW%W@WW

3. cardinality of a set / Wﬂﬂ?ﬂaﬁﬂw
4. none of the above / SRIFAE Y Ob\lsrqf?f




Correct Answer :-

« symbol to represent a number/WW%qﬁﬁﬁlamm

28) There are 100 cookies in a packet. If there is ‘m’ packets, then total cookies can be written as: /

T% TP U 100 FFIW 21 Afe Thel & &I 'm’ 8, A FHIoI B Hol Y= B e o Jova 3:

100
m
1.
2. 100m
3.100 + m

4. 100-m

Correct Answer :-

e 100m

29) ‘Gitika’ by Aryabhata is a collection of: /

mdvg gRTRga Wi 31U wus 3|

1. Kalakiya — Work on time and measure / HIATHA-THT 3R {1 R B
2. Problems on Arithmetic / SHITIOT TR Jrraif

3. Gola (Sphere) / TTIdTT (T13)

4. Astronomical tables /@ﬂ?ﬂq m

Correct Answer :-

e Astronomical tables /@ﬂ?ﬂ’q ali?ﬁlﬁ

30) Micro Teaching technique was brought to India by ./

G&H AT (ATS! SIfRT) dop-ilep, URd & gR1 arg 8 At
1. Atkinson / Ufdrg

2. BK . Passi / dil.b. Tl

3. Allen / &

4. Anderson / TSI



Correct Answer :-

e BXK. Passi /@% oIS

31) Unit plan for teaching mathematics is done in the ./

TTford fRraror & forg 18 g H 1 oIt 31
1. post-instructional phase / th“e—&r:],%mm IROT

2. pre-instructional phase / -3 'j,aQI [Hop TRVl

3. teaching-learning phase / fRrefor-3iferTy =R

4. evaluation phase / HedTh~ IRTT

Correct Answer :-

 pre-instructional phase / -3 j&-‘%l IHop U]

32) Thorndike's ‘Law of Readiness’ is made use of in the / tﬂw & ‘qURdT BT
fraa’ &1 Sua # forar wiraT 81

1. Unit Plan/ E"aﬂ_’if IS

2. Lesson Plan / UT& OIS

3. Home Work /1]g Gap

4. Preparation of objectives / B%’Q’Cﬁ Al ?WI'\&

Correct Answer :-

e Lesson Plan / UTd OIS
33) 2x+3y=10 has: /
2x+3y=10 I:
1. No solution /
®IS B T8I B
2. A unique solution /
T AT g &

3. Only two solutions /

HAA G gA G|



4. Infinitely many solutions /
3d FUY FS 53

Correct Answer :-

« Infinitely many solutions /

IFIFTU AP g g |

34) Mensuration integrated with geometry makes drawing of regular shapes introduced to children in
four ways -

1.aesthetic

2. approximation

3.comprehensive

4. association

This is known as /

STt & a1y gafed afafa = Fafta snefaal @ YTt a9 o 9= & o IR
TP I Ugd §¢ -

1. gofuqui

2. gfaded

3. HqPH

4. AgTd

W FErdTETEL

1. Technique of approximation / BIEETREIGERIcY

2. Technique of mathematization / IO hRUT D db-h
3. Technique of quantization / BIREIYICR SHIC ARG
4. Technique of ideation / foaRUT &1 ddb-ite

Correct Answer :-

o Technique of quantization / gRATIHR I dh-ilh

35) Choose the pair that is not twin prime. /
I T PTG B Sl WY U T 21
1. (91, 93)

2. (59, 61)



3. (41, 43)

4. (101, 103)
Correct Answer :-
« (91,93)

36) If PQ and RS are two equal and parallel chords, the distance from centre to PQ is 5 cm, then the
distance between PQ and RS is: /

gfe PQ 3R RS G RTER 3R FHIGR il §, % °d PQ B g3l 5 I &, d PQ 3R RS & &g 3t gt A 8:
1.10 cm/
10 Gt
2.25cm/
25 gt
3.2.5cm/
2.5 44l
4.5cm/

5 99T

Correct Answer :-
e 10cm/
10 It

37) Vedanga jyotisha in astronomy was compiled in 1200BC by ./

Td fagF A dgiTsafau et 1200 ST A gRT Aopfera fovam wam At
1. Aryabhatta / IS

2. Sulbakar / GeaTHR

3. Bandyama / §G09

4. Lagadha / YT

Correct Answer :-

» Lagadha / T



38) The length of the arc of a sector is 22 cm and the area of the sector is 231 sq cm then the angle of the
sector is: /

U TS &P 917 D1 dars 22 A 3R TS 31 &% 231 T AH g, A TS T HIUT = 2:

0
L 60
1200
2.
450
3. 45
900
4,

Correct Answer :-

60°

39) The perimeter of two circles are in the ratio 2:3, then the ratio of their areasis ./
3 gl Ft uRfY &1 erqurd 2:3 ], @ 3% A% HT U 2l

1.2:3

2.4:9

3.3:2

4, 9:4

Correct Answer :-

e 4:9

40) One of the objectives stated below is not measurable and that is: /

i fow U SExal A & v Arog E ® sk ug gl
1. To develop critical thinking. / 7Tg- RaT &l fasRd FH & ﬁfq
2. To identify their shapes in the nature. / W T 39! 31'@%@[ Pl PREIGI CRCE: %I'Q

3. To illustrate equal sets / THTH T 1 RS HRA o felT

4. To recognize rational numbers. / dé(—i‘ld HMIG‘hﬁ Ugdl- Cb*@l %1%112

Correct Answer :-

» To develop critical thinking. / 7Tg- IEREEARGEARE] W%ﬁ‘ﬂ



41) Which of the following is an open-ended question? /
Frafafaa d 3 o9 T Nua-tss Uy 82

1. Anusha has a total of 50 Rupees. What are the possible denominations she can have? / 3T & U Pd

50 ¥9
g1 3% U JHIfad Jead! &1 81 Tahd 8?2

2. Area of a square is 400 cm?. What are the possible values for the side of the square?

/ T% T BT A E 400 THI2 B | T P YTl & g GHIfad A Fa1 872

3. Prove that the square of an even numbers is even. / |%I@ &+ fob gr dwraf &1 gt

A BT
4. State Pythagoras theorem /usunﬂwuﬁtrﬁaﬁml

Correct Answer :-

« Anusha has a total of 50 Rupees. What are the possible denominations she can have? / S{JUHI & U

%d 50 3T
g1 3P U GHIfad Jeaa! 31 8 9ehd &2

42) ‘Mathematics is the mirror of civilization’ was stated by: /

ATFOTT J¥IT BT SUUT & I’ ST GIRT Pl TT:

1. Newton / gc-d

2. Euclid / (TS
3. Hogben /BW
4. Plato /@ﬁ

Correct Answer :-

« Hogben /BTTIa:[

43) CANCELLED

Who among the four is not a non-Euclidean? /



IRI A A B T IR-gfaarsa T8l 82
1. Renaissance / TSRO (A=)

2. Bolyai / SIcdTS

3. Lobachevsky / diadoqa!

4. Enclid / TfaaS

Correct Answer :-

« Enclid / TAfaas

44) Which one of the following statements is true about power/exponent? /
fFafafaa ¥ & S19-31 $Y= ura/91die & G6Y § 99 82
1. In 102, 10 is the power and 2 the exponent/
102 H, 10 9Td 3R 2 TP &
2. (5a)b =5a°
3. 10000 is the exponential form of 10%/
10000, 10* BT €T =0 &

4. 216 is the third power of 6/

216, 6 BT AIRT UTT &

Correct Answer :-
e 216 is the third power of 6/
216, 6 PTATRTIG &

45) CANCELLED

Algebra is al-gebra =al-jebr wa'almuqabala. The translation of equivalent words of aljebr and wa’'al
mugqabala is and , respectively. /

Qe Algebra, al-gebra =al-jebr wa’almuqabala : aljebr 3R wa‘al mugqabala & JHdY ] BT
R G0 3R gl

1. restoration , reduction / YT:RITU, Ycld

2. restoration , challenging / Y7: &1, ﬂ:ﬁ?ﬁ

3. restoration , proving / Y1: &Y, R BT



4. balancing, solving / T, JHIYH

Correct Answer :-

« restoration , reduction / YT:RIU-, YcTd

46) CANCELLED

If the mean of "' 23 ... is 4, then the mean of 2xy, 2%, 203 is i

gfg “rrefe e mmm4%,a‘r2x1‘2x2’2x3 ............. ST ____§
1.2
2.4
3.8

4.6

Correct Answer :-

47) CANCELLED

If one zero of the quadratic polynomial is x*2+3x+k is 2, then the value of k=

Tfe feaTd 98UE x A 24 3x+k PTTH LAF 28, K BTHM = |

1. —10

V10
2.

3.10

4.5

Correct Answer :-

48) CANCELLED

Which of the following is not under remembering objective? /
Frufefead # @ 19 Wit fAwy & srdifa =8) emar g2
1. Measures accurately / YT ATYT HAT



2. None of the above / SWRIGd B Ob\lg:lﬁ
3. Recall term /mwﬂtrw

4. Recognizes formula / A UgdI-]

Correct Answer :-

« Measures accurately / E[Qﬁ?{ HIUA hAT

49) CANCELLED

A, B, C and D are positioned at (12, 2), (16, 4), (18, 8) and (2a, 6). If the points are joined a rectangle
ABCD is formed, find D’s position. /

AB,CTE D (12, 2), (16, 4), (18, 8) T (2a, 6) W fRua &1 afe fagan &} firamar wime ot e simaa ABCp a4
ST 8, Y p 9 fRUf 3ra HI1

1. (14, 6)

2.(13,6)

3. (11, 6)

4. (12, 6)

Correct Answer :-

« (14,6)

50) CANCELLED

Which of the following formula holds good for zeros of a quadratic polynomial? /
frufafea & 9 19 9197 f5ura sgue & 3 & 98 afis | ufvunfa sarg?

1. Product of zeros = coefficient of x/constant term /

[ &I UM = x BT UM/ 3R UG

2. Product of zeros = Constant term/coefficient of x /
YA DI M= 3R UG/ x BT YUl

3. Sum of zeros = -(Coefficient of xz)/coefﬁcient of x /
[ BT ANT=-( x2 BT ON5)/ x BT [0S

4. Sum of zeros = -(Coefficient of x)/coefficient of x2 /

T BT ITT=-( x B T0Iie)/ x2 BT Ul1ch



Correct Answer :-

» Sum of zeros = -(Coefficient of x)/coefficient of x2 /

T BT UNT=-( x BT UIIh)/ x2 P {UlicH
51) CANCELLED
Pythagoras established the order called ./
URUTIRE A S 3ifex &1 wiifud fFan
1. Figurative numbers / TR HAT
2. Brotherhood / IGRgS
3. Pythagoreans /UEWW
4. Mathematics /Tlﬁk_'ﬂ'q

Correct Answer :-

o Pythagoreans /UEWW

52) CANCELLED

Choose the correct statement about integers. /

quiterl & fawa & 98l S &1 999 B

1. Subtraction is commutative for integers /
gera quifes & fore fafaasiia gar g

2. Addition is associative for all integers /

grT gt quiie! & fog gearh giar 3 |

3. Division is associative for all integers except 0 /
faure 0 B BreHR T qurie! & for weer gl |

4. Whole number are closed under addition & subtraction /

ol TRe T 37R HeTd & S A% gial 8

Correct Answer :-

» Addition is associative for all integers /

grT et quiie! & fog gearh giar 3 |



53) CANCELLED

What will be the sign of the product if we multiply together:
1. 9 negative integers and 4 positive integers

2. 5 negative integers and 5 positive integers

3. 4 negative integers and 7 positive integers

4. 8 negative integers and 5 positive integers

5. (-3), 2n times, n is a natural number. /

gfe g 56 MU ¥ UM $Hd 8 I MU $T FIg 1 gHMm:
1. 9 BUTHS YUITH 3 4 YATHS QUIH

2. 5 BUTHS QUITP 3R 5 YIS QUIie

3. 4 BUTHS QUITP 3R 7 YATHSD YUIH

4. 8 BUTHS YUITH 3R 5 YATHP QUID

(-3), 2n SR, n TS UIHd =T ¢

1. i — positive, ii — negative, iii — negative, iv — positive, v —negative /

i — YATHD, ii — BUMHD, iii — BUTHD, iv — YD, v — BUTHD

2. i — positive, ii — negative, iii — negative, iv — positive, v — positive /

i — §THD, ii — BUMTHD, i — BUTHD, iv — YTHD, v — YATHD

3. i — negative, ii — negative, iii — positive, iv — positive, v —positive /

i — BUNHD, ii — BUNHD, iii — YATHD, iv — YTHD, v — YATHD

4. i — negative, ii — negative, iii — negative, iv — positive, v —positive /

i = BUMHD, ii — BUMHD, iii — BUMHD, iv — YIIHD, v — YITHD

Correct Answer :-

» i— negative, ii — negative, iii — positive, iv — positive, v —positive /

i — BUHD, ii — BB, iii — YTHD, iv — YD, v — Y-THD
54) CANCELLED

Which of the following is the multiplicative identity in the set of whole numbers?

/
fFrafafaa d ¥ S19-31 7of Jemsit & Iq=d # UITde JHEudT 8?2



1.1

2. All whole numbers /
Tt quf e

3.0

4. -1

Correct Answer :-

55) CANCELLED

When N is a set of all natural numbers, W the set of all whole numbers, Z the set of all real numbers,
then which of the following is true?/

gfe N Ot wrpa wemsit &1 v agw=y g, w 9t quifet &1 w8, z 9t arafas densit &1 au=y B,
at frffaa o @ #9-ar 9w 82

RcZcWc N
1.

5 WCNcRcCZ

NcZcWcR
3.

NcWcZcR
4,

Correct Answer :-
NcWcZcR

56) CANCELLED

Find the sum of perimeters of an equilateral triangle and a regular pentagon whose both side is 4
cm. /

TS HaTE YW 3R o frafia days &1 uRftm &1 9 3ma &9, et S yerd 4 9 €1
1.32 cm/

32 At

2.252 cm/
252 At



3.36 cm/
36 JH

4,62 cm/

62 At

Correct Answer :-
e 32 cm/
32 Tt

57) CANCELLED

Find the perimeter of the triangle whose sides are 4 meter, 5 meter and 60 cm. /
By &1 ufamg 31a #3, Rrast Yo 4 fiey, 5 Wex i 60 A T

1. 69 meter /

69 Hiex

2. 9.6 meter/
9.6 Oiex

3. 3600 meter /
3600 1:1 <X

4, 6.9 meter /
6.9 Oiex

Correct Answer :-

e 9.6 meter/

9.6 HIex

58) CANCELLED

In a right angled triangle the square of the hypotenuse is twice the product of the other two sides.
Find one of the angles of the triangle. /
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3, 30°

4, 60°

Correct Answer :-

59) Express 15625 as a power of 5. / 5 % °UTd ¥4 § 15625 &I oG P |
1.4°
2. 5°
3.5°
4. 6°

Correct Answer :-

60) A(3,5) and B(-3,5) are the end points of the diameter of a circle. Find the centre of the circle. /
A(3,5) Td B(-3,5) T 90 & &N & Sifaw fig &1 g9 &1 % 9 +¢ |

1. (5,0)

2. (6,5)

3.(3,0)

4. (0,5)

Correct Answer :-



